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CHAPTER 2

CASE STUDY: THE END IS NIGH…THE DEMISE OF THE CHEQUE AS AN INSTRUMENT OF PAYMENT

Most of us grew up with a parent using a cheque to make payment for products or services bought. One of the ideals of any child was to dream to own and write a cheque for payment. It was seen as a visible point of financial maturity to be able to write a cheque and for merchants to accept it. 
Cheques have a long and colourful history. The first cheque was drawn against a long defunct UK bank called Clayton, Morris & Co…and interesting enough in the year 1659, making the cheque as payment instrument more than 350 years old. Looking back at the speed of innovation in the financial services industry it seems amazing that such a product could be around for such a long time and still be in use at this day and age.
Now after more than 350 years there is a serious thought by the international banking community to get rid of this cumbersome, expensive and thoroughly old-fashioned product. The UK banks took the lead and announced that the last cheque would be honoured in 2018. The reason provided was that it would provide a savings of £200 million for the banks. This was decided whilst more than1, 1 billion cheques were used in 2010 in the UK totalling an amount of £1, 1 trillion in money
.
The UK banks were hit with an avalanche of complaints and bad publicity and the Treasury Minister hastily announced that until there is an alternative product in place that is easy to use and cost-effective the use of cheques as payment will not be stopped. 
South African banks have been watching developments in the UK intently and would probably also now refrain from making the cheque an obsolete instrument of payment in South Africa. Already there are some retail institutions locally that have decided to discourage the use of cheques as method of payment. The Edcon group for instance implemented a policy from September 2008 promoting the use of debit cards to make payment to Edgars. Edgars has referred to the fact that there are various alternatives available such as Visa cheque cards, Visa electron debit cards, internet, telephone and cellphone banking, ATM payments and  debit orders  Reasons presented by Edgars for not accepting cheques includes the risk of cheque washing where fraudsters inserted their own amounts and beneficiaries on a washed cheque

South Africa has a sophisticated cheque clearing system in place but it is a time consuming and expensive system costing the retailer and also the customer money. What is however also clear is that there are still many customers who choose to use cheques, especially the older generations

The Payments Association of South Africa reported in 2009 that the use of cheques as a method of payment has decreased by as much as 20% per annum over the last few years
. 

QUESTIONS:

You are the CEO of a new banking group that wants to compete in the market place against the traditional 4 retailing banks, namely ABSA, Standard, First National Bank and Nedbank. You are of the opinion that there is a place in the market for traditional values and are considering making cheques a cornerstone of your strategy to differentiate your bank for the rest. Start the process of environmental scanning in which you execute a SWOT analysis for this new bank.

GUIDELINES
DISUSSTION QUESTIONS

1. What is the role of marketing management in researching the marketing landscape and finding answers to the dynamic world?
2. Discuss the variables in the marketing environment that are fully under the control of the marketing manager.
3. Discuss the role that competition plays in the business world. Refer also to the various forms of competition that can be found in the marketplace.
4. You are the CEO of Wall-Mart and are looking for an investment in South Africa. He specifically wants to determine the opportunities and threats that are relevant to Wall-Mart. 
5.  Describe the various types of customers that you can find in the market environment.
MULTIPLE CHOICE QUESTIONS

1. 
Complete the following sentence:  The marketing environment can be described 
as the total of all   the ___________ and sources  __________ and _________ 
the organisation that influence __________decisions.

a.   Variables; internal; external; business

b. Variables; inside: outside; business

c. Factors;  inside : outside ; management

d. Variables; inside ; outside ; management

2. 
Marketing Management must be aware of both the internal and external 
environments in which the business operates. Read the following statements 
and indicate how 
many of the following statements is/are correct?

(i) Marketing strategy must be adapted on a continuous basis to synchronise with changes in the business environment.

(ii) Scanning the environment can influence the marketing efforts and marketing strategy

(iii) Internal scanning is needed to determine the organisation’s opportunities and threats

(iv)Scanning the environment means using the organisation’s resources to satisfy the needs of the market.


a.  One


b.  Two


c. Three


d. Four

3. 
Any organisation must be able to deal with change. How many of the following 
statements regarding change is/are untrue?

(i) Change is any alteration in the current situation of the organisation.

(ii) Change can be measured.

(iii)  Reasons can be found for change in society

(iv) Change can threaten the continued existence of the organisation.

a. One

b. Two

c. Three

d.  Four

4. 
With change occurring on a continuous basis the management of the 
organisation 
must be able to identify trends in the business environment. You are a CEO of 
a big retailing business group in South Africa and is confronted by the news that 
Wal-Mart has just taken over one of your competitors, namely the South African 
retailing group Massmart . Look at the following information and indentify the 
different trends that are occurring in South African retailing.
	Information
	Type of trend

	(a)Wal-Mart has a reputation for low prices across the board of its product range.
	(i) Constituting an opportunity

	(b) The labour unions are up in arms against this takeover and threaten to bring the whole retailing sector to a standstill by wildcat strikes.
	(ii) Constituting a threat

	(c) Woolworths, one of your competitors is branching out to Dubai and is pioneering acceptance for South African retailing groups in this country.
	(iii) No implications for organisation

	(d) Wal-Mart will keep  the existing  top management structure of Massmart on board for the time being
	


a. (a): (ii); (b):(ii); (c):(i); (d):(iii)

b. (a):(iii); (b): (ii); (c): (iii) : (d): (iii)

c. (a): (ii)  (b):(i); (c): (ii); (d): (i)

d. (a): (iii); (b): (i); (c): (iii); (d): (ii)

5. In the marketing landscape there are many variables that must be considered by the CEO of the organisation. How many of the following statements regarding the marketing landscape is/are true? 

i. The micro environment of the organisation cannot influence the market environment at all.

ii. Suppliers can have a direct influence on the micro environment in  which the business operates

iii. The organisation has no influence on the macro-environment

iv. The macro-environment influences the business’s micro environment directly

a. One

b. Two

c. Three

d. 4. Four  

6. Which of the following combinations reflect the correct components that you will find in the market environment?

(i) Competitors

(ii) Labour organisations

(iii) Suppliers

(iv) Intermediaries

(v) Technology

a. a,b,c

b. a,c,d

c. a,c,d,e

d. a,b,c,d,e

7. Which of the following describes the typical marketing environment at best?

i. Environmental variables interrelated

ii. Increasing instability

iii. Environmental uncertainty

iv. Increasing complexity of the marketing environment

a. a,b

b. a, b,c

c. a,c

d. b,c,d

e. a,b,c,d

8. Which one of the following factors does not forms part of the micro-environment of an organisation?

a. The marketing communication policy

b. The resources of the business

c. Marketing threats

d. The labour force of the organisation

9. 
Which of the following statements refer to variables that are found in the macro-  
environment?

(i)  The development of solar power units for domestic use will soon result in a drastic decline in traditional coal power generation.

(ii)  Inflation has a direct influence on the buying power of a consumer’s Rand

(iii) The number of single households and households headed by women has increased drama in South Africa.

(iv) The financial meltdown that occurred in 2008 had a negative impact on the world economy.

a. a,b

b. a,b,c

c. a,b,c,d

d. None of the above

10. Read question 9 again. Now link the statement with the specific variables of the macro-environment as provided in the table below. 

	Statement
	Macro-environmental variable

	a. The development of solar power units for domestic use will soon result in a drastic decline in traditional coal power generation.
	i. Economic environment

	b. Inflation has a direct influence on the buying power of a consumer’s Rand
	ii. Technological environment

	c. The number of single households and households headed by women has increased dramatically in South Africa.
	iii. Social environment

	d. The financial meltdown that occurred in 2008 had a negative impact on the world economy.
	iv. Physical environment


a. a i; b ii; c iii; d iv

b. a iv; b ii; c iii; d i

c. a ii; b i; c iii; d i

d. a ii; b i; c iii; d iv

11. How many of the following statements about the marketing environment is/are true


(i) The marketing department controls all the variables in the micro environment.


(ii) The demand and supply situation in the business environment will influence 

the level of competition of the business.


(iii) Banks are intermediaries in the retailing business environment.


(iv) variables such as VAT, disposable income and  the level of education of the 
population are examples of aspects that are considered in the macro-
environment of the business.

a. One

b. Two

c. Three

d. Four

12. How many of the following variables create particular opportunities and threats for 
the organisation and are found in the market environment

i. Customers which determine the number of providers of products and services to the market

ii. Existing, new and potential competitors

iii. Intermediaries
iv. Suppliers 
a.One

b. Two

c. Three

d. Four

13. In general, prices among competitors will need to be very similar, if not identical 
in a competitive situation which is defined as...

(i) Monopoly

(ii) Perfect  competition

(iii) Oligopoly

(iv) Monopolistic competition

a. a b

b. a.b.c

c. b c

d. b c d

14.  Which of the following statements about monopolies is true?

a. The are many buyers and sellers but each offers something different from 

the others.

b. There are three types of monopolies, namely pure, natural and artificial.

c. There are only a few large organisations that accounts for majority of the 
  
industry sales

d. Public enterprises are monopolies 

15. The marketing manager must remember that the marketing environmental variables are:

a. Independent of controllable variables.

b. Controllable by good managers

c. Not relevant to the organisation

d. Interrelated so that changes in one will sometimes bring changes in the

    other
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